
http://ierusalimka.ru/news.php?item.428

�!�B�@�0�=�8�F�0 1/9

		���>�5�7�4�:�0. ���K�5�7�4�=�>�5 �7�0�A�5�4�0�=�8�5 ���>�<�8�A�A�8�8 �?�>

�=�0�F�8�>�=�0�;�L�=�K�< �>�B�=�>�H�5�=�8�O�<

		

		VSYCHEV, �!�@�5�4�0 18 ���0�9 2022 - 18:00:00

		

		���0�F�8�>�=�0�;�L�=�K�5 �>�B�=�>�H�5�=�8�O �8 �A�2�>�1�>�4�0 �A�>�2�5�A�B�8.

�-�B�=�>�B�C�@�8�7�<.

���0�6�4�0�O �=�0�H�0 �?�>�5�7�4�:�0 - �M�B�> �?�@�8�:�>�A�=�>�2�5�=�8�5 �: �A�:�@�5�?�0�<,

�8�A�B�>�@�8�8, �B�@�0�4�8�F�8�O�<, �?�>�B�5�=�F�8�0�;�C �:�0�6�4�>�3�> �<�0�;�5�=�L�:�>�3�>

�<�5�A�B�5�G�:�0. �� �2�A�5�3�4�0 �?�>�@�0�6�0�5�H�L�A�O, �3�>�@�4�8�H�L�A�O, �C�2�0�6�0�5�H�L �B�5�E

�;�N�4�5�9, �:�>�B�>�@�K�5  �>�B�:�@�>�2�5�=�=�> �;�N�1�O�B �A�2�>�N �<�0�;�5�=�L�:�C�N

� �>�4�8�=�C, �6�8�2�C�B �B�0�<, �=�8�:�C�4�0 �=�5 �C�5�7�6�0�N�B �8 �2�5�@�O�B �2 �1�C�4�C�I�5�5!

http://ierusalimka.ru/news.php?item.428


http://ierusalimka.ru/news.php?item.428

�!�B�@�0�=�8�F�0 2/9

http://ierusalimka.ru/news.php?item.428


http://ierusalimka.ru/news.php?item.428

�!�B�@�0�=�8�F�0 3/9

http://ierusalimka.ru/news.php?item.428


http://ierusalimka.ru/news.php?item.428

�!�B�@�0�=�8�F�0 4/9

http://ierusalimka.ru/news.php?item.428


http://ierusalimka.ru/news.php?item.428

�!�B�@�0�=�8�F�0 5/9

http://ierusalimka.ru/news.php?item.428


http://ierusalimka.ru/news.php?item.428

�!�B�@�0�=�8�F�0 6/9

http://ierusalimka.ru/news.php?item.428


http://ierusalimka.ru/news.php?item.428

�!�B�@�0�=�8�F�0 7/9

http://ierusalimka.ru/news.php?item.428


http://ierusalimka.ru/news.php?item.428

�!�B�@�0�=�8�F�0 8/9

http://ierusalimka.ru/news.php?item.428


http://ierusalimka.ru/news.php?item.428

�!�B�@�0�=�8�F�0 9/9

���>�4�@�>�1�=�> �>�7�=�0�:�>�<�8�B�L�A�O �A �@�0�A�?�8�A�0�=�8�5�< �1�>�3�>�A�;�C�6�5�=�8�9

���E�>�4�>�8�5�@�C�A�0�;�8�<�A�:�>�3�> �E�@�0�<�0 �3. ���@�:�C�B�A�:�0 ���K �<�>�6�5�B�5 �2

�@�0�7�4�5�;�5:  

(��, �M�B�> �?�0�@�0 �<�0�;�5�=�L�:�8�E �?�0�<�O�B�>�:: 

1. �?�0�<�O�B�:�0-�:�=�8�6�5�G�:�0  �> �B�>�<, �:�0�: �<�>�;�8�B�L�A�O �2�> �2�@�5�<�O

���>�6�5�A�B�2�5�=�=�>�9 ���8�B�C�@�3�8�8 �8 �?�5�@�5�4 �1�>�3�>�A�;�C�6�5�=�8�O�<�8,

�?�@�0�2�8�;�0�E �?�>�2�5�4�5�=�8�O �2 �F�5�@�:�2�8 �8 

2. �:�@�0�B�:�8�5 �7�0�?�8�A�:�8 �>�1 �>�1�I�8�E ��� �����������%  �?�>�2�5�4�5�=�8�O �2 �F�5�@�:�2�5

�?�@�0�2�>�A�;�0�2�=�>�9.)

http://ierusalimka.ru/news.php?item.428

